[ET 5T ER]

TH
=
AW
pou |

-

Ne)

<

<
L

SAINL—HR—JL

H ASf6410H20H (H)
% . IERIRERE

7k 1-HT

(I AT
YRR DS AT
9% 3L A HT
I By ARHT




BR 0 Ep Bk

[ETstdiooE]  #H - 23 10/20 AR (A, B)
0 10/27  RiRAEENAEEFERYS (A, B)

10/20 ! 10/27
i
B W -
/
i
®OKR W2 !
. f
/
B A A
T 4 W 3 FaT ! A1
i
A E I MT 4 10 i
[
!
¥ " HE 5 - !
! [ | —
11
N 7 BT 6 E
f
=) BT 7 i
0
)
1 /
A 2 HT 8 !
-
; f
Bk HT 9 4
: !
!
& AR RCHT 10 f
S
& B
YIS
GRR VA
]]




Y rAR—IL

[ETcHpLooER]  WIH - &35 0 10/13 MIEFRHY 7 hAR—A4:(1. 2. 3. 4)
MR Y 7 AR — VSR ERSS (B . C)
2 10/20 BIHY 7 FAR—AE(1. 2)

10/13 : 10/20
AR R AT 1 ! !
I 9
|
£ & W2 - |
| 4
|
%Ok W3 - |
|
! 6
OHE R4 "
: S
i N -
' 12
|
|
P G G i i
I ——
7 i 8
AL F[ I W] 7 i
: 2
W OHE T8 !
13 !
|
B 5| BEPRHT
U | /AT
%3N0 | TRAHT
Il HIRZE BT




B X

(CIBSENAL: S BB H :Sf6410H20H (H)
£ %5 . FRCE TR R
A 19.20.21 =— kK
HT pa E=)IET 5T ACETJIAT | 5] B & | IBAL
1|k = )il BT 4-0 4-0 4 2 0 1
2 |% B HT 0-4 4-1 3 1 1 2
3 B8 [ I HT 0-4 1-4 0 2 3
B 22.23.24  25.26.27 o— |k
i) pa T FAHT HRZEHT EARIRET | 55 B | & | BEAL
4 B Wy 4-0 4-0 4-3 6 3 0 1
5|F 4 HT 0-4 4-1 0-4 4 1 9 3
6|38 4 HT 0-4 1-4 1-4 3 0 3 4
Tl AR WA 34 4-0 4-1 5 9 1 9
C 28. 29. 30 o— |
T va P RHT JEARHT WFHT |15 B & | BAL
8 | A HT 40 4-0 4 9 0 1
9|/ A HT 0-4 4-3 3 1 1 2
== JI1HT :
_3
JREAHT
2
AR IR T
B RHT
i E T
_3
=Ll
4
T
< HE1E )'; =)l
AR : ERY BT
J AR JRT




INFEU MY

H H :&f6410H20A (A)
& B BT U —FTHARGTT U —F)
[BT6tHL D ER]
0
B 7N BT 1
1
3
= = Ji H 2
3
[ S N ]
0
0
% S H] 4
2
gt + BT 5
3
2
+ A4 W 6
1
B B WS T-HT
YEIE I B =1y
% 3{r P ACHT
n TAHT




INZTw <I—)U

M H 10/20 EEAEBEEEA-B), w7 - 7YV —FLHBEEX(C-D)
= H10/21 EEKREE(A - B)

(BTt Es] B+ 10/20 10/27  BEHE BRI

1 10:00 4 13:30

[1]
=F

|
i 2 11:10 5 14:40
. 3 12:20
|
T & W !
| Al
93 '
E o= 0oy 2 i
L |
M = BT 3 .
11 .
|
i B4——
34 :
77 = mT 4 |
i
iy N BT 5 .
71 | Bl
moAR ROHT 6 l
i
i ' %
. UEMEPS
I YA
. I
|
[BTSeIHLDER] 4o+ 10/20 i10/27
i
% Ak BT 1 E
69 I B3
= Uik R 2 i
I & W
il H BT 3 .
20 | YEME K
i




VIbTZ=R

| CIPSEARRE -t H :Sf6410H20H (H)
PPN & b @ AR A EEART = A a2 — k
(CIpEaR2k: Y |
BT 4, E=JIET) EAERT | S5 | 28T | ERORHT P | i -bZ= | AR
1| E=)nmr @ ©) @ ©) 4 1
2 | FA:HT 1 1 @ 2 1 4
3 | HEET 2 @ @ ©) 3 2
4 | Z&T-HT 1 1 1 1 0 5
5 | BpARHT 2 ©) 2 @ 2 3
2 B L= )IHET
EEH FEHT
= i 7 ARHT




Yy h—

[T o] WA - 255 10/20 B A b 5 EB)AR

ot

Ry
0

/

10/20

2
HT 1
0
HT 2
1
s 1-HT
2
BT 3
1
HT 4
1
B W TR
RS | AT
%3N | HEAHET
Z i EHLHT

11




2iE

H :5f6410H20H (H)
Y oA REE BEl

CUIPSEAN2L |

Hp &

+ A HT

—_

S (NI )

AR OROHT

w

— -2 T

=10 HT

N

=t

S
=
>

i
I
5

B 5| EEHT

Y T EET

B3| EPORET

) AT

12



:1j H :SFf6410H20H (H)
= 5 v A RiEfE B EY
CIPSEAM2L |
3
i K 01
By RHT
0
Bill H T 2
2
[53 K BT 3
4
(-3 B AHT
YELEE s JEAHT
3 HRZEHT

13



i

19 H :Sf6410H20H (H)
2 o FEETeEY (BEGEEN)
iy 4 1HH | 2M@EH & A HIEAL B AENANT
1 | VN 16 13 29 1 1
2 135 I 11 11 22 2 2
3 | T H 8 10 18 4 5
=] 10 9 19 3 3
o = I
E7N
D
ww| 5 (8 B 7 8 15 6 6
6 | % S
E: 2=
8 |/ R W 8 10 18 4 4

14

543

543

£+
=]

£+
A

1

4



72 Ar 7 S )|

] H : 464104200 (H)
2 i HTH R EARRNREE EIRNY
/%: FERNY i%
L & Et [[EYa

14 7 il - -
28 K W 495 8
3T A T 476 5
417% K iy 479 6

T 571 ZH ] 499 9

xt

| 6 = AT 506 10

D

W o7 o B 489 7
8 k= JIl HT 469 3
9 R W HT 445 1
1038 F JII T 474 4
1112%% -+ ] 460 2

18




